
51 51 89 28 75
+ 84 + 14 + 92 + 90 + 37

94 93 24 10 73
+ 89 + 78 + 23 + 45 + 69

61 65 62 11 50
+ 81 + 12 + 26 + 52 + 64

86 33
+ 60 + 35

12 14
+ 11 + 64

25 21 Answer:

+ 82 + 33
How many 

chocolate are in the 

candy box?

Instructions: Find out how many chocolates are in the candy box. Any sum 

over 97 counts as one.

Valentine's Day Chocolates Mystery − Sums to 198 (B)
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51 51 89 28 75
+ 84 + 14 + 92 + 90 + 37
Yes 135 No 65 Yes 181 Yes 118 Yes 112

94 93 24 10 73
+ 89 + 78 + 23 + 45 + 69
Yes 183 Yes 171 No 47 No 55 Yes 142

61 65 62 11 50
+ 81 + 12 + 26 + 52 + 64
Yes 142 No 77 No 88 No 63 Yes 114

86 33
+ 60 + 35
Yes 146 No 68

12 14
+ 11 + 64
No 23 No 78

25 21 Answer:

+ 82 + 33
Yes 107 No 54

Valentine's Day Chocolates Mystery − Sums to 198 (B)

Instructions: Find out how many chocolates are in the candy box. Any sum 

over 97 counts as one.

How many 

chocolate are in the 

candy box?
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